MAP EVOX-OP-REV2

Install Instructions

What's In the box?

Ix MAP EvoX OIil Pan - Assembled

IXx MAP EvoX AC Bracket

15x M6 Bolts 16mm Length, Imm Pitch

19X M6 Washers

bx M8 Washers

4x M8 Bolts 110mm Length, 1.25mm Pitch
IXx M8 Bolt 70 mm Long, 1.25 mm Thread
IXx M8 Bolt 35mm Length, 1.25 mm Thread
IXx M8 Bolts 20mm Length, 1.25mm Pitch
Ix 1/8” NPT Plug



Tools heeded

e A = s e a2 () Hi ‘ on 'J "y I‘
;’r' x . £ '.- i = "IZJI-." ""ilr L o i i o 1 :h L I ' |I I 1
“ by .J ‘I.IHI - ‘-_‘J - t‘ f III" T o .. s I 1
By Ry e WP | ke LY a il
- I-.t:t_ ._;‘,r“’_ ) r-'rl:'_ 7 o W L 1 %l
.._:_ L 1 ;—.:-.r"- __.:: : "_,':{I;.*_ Im[lllrl & . [ i ’
TEaR i ey Newer BRiciellg 1 ' '
: T e Sensor Safe [[4 /f L
Sl At RTV Silicone [/ .
r “-f . = & = '|'.
o 75191 595 il
crice §i _
ECZE3%)

NETWT. 3 0L
"~ CONT NET.83

T—

You Will need:

» ]J0mMm socket

. 3/8ths ratchet

. 3/16ths, 5mm, and 6mm
Hex Bit Sockets

» Gasket scraper

« Ultra grey or equivalent
gasket sealer



Remove OEM AC compressor
bracket downpipe




Remove oil pan bolts




emove oll pan, some prying may
required to remove oll pan




Clean gasket surface on oll pan,
using gasket scraper or new razor
blade at 90* angle




Apply gasket maker to
MAPerformance EVO X pan, following
the path pictured




Install evo x oll pan with included
hardware




—

- - = — a " o -, =" . - .
B - - -~ a 7 — 4 - . i ol —_ " - = lly ™ - = - L
= E . ST :'r._' i ' T :: - - L = - - L ‘; T " ~
- e =3 e — el o : = ; = s / Ay
T i P - = - A ' - *
P, SR , : - I | -
’ a - ~ - -
= . F Tl . . . 0 .
3
- B
e ’
\ ———————

Install MAPerformance EVO x oil pan
AC compressor bracket, install all bolts
hand tight, and then tighten ac
compressor bolts then oll pan bolts




We hope you enjoy your

purchase! Reach out

to us with any issues or
concerns.

(O

1-888-62/-3/36

@mMmaperformance

»

support@maperformance.com

O

www.facebook.com/modernautomo-
tiveperformance/




